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INSTRUCTIONS
Answer all- questions.
All questions carry equal marks.
Only one answer 15 to pe given for gach guéstion.

i miore than one answers are marked, it would be
treated as wrong answsr,

Each question has four alternative responses
marked serially as 1, 2, 3, 4 You have tc daiken
oniy one circle or bubble indicating the correct
answer on the Answer Sheet using BLUE BALL
POINT PEM.

1/3 part of the mark({s} of each question will be
deducted tor each wrong answer. (A wrong
answear means an incotect answer of mere than
one answers far any question. Leaving all the
relevant circtes or bubbles of any question blank
will not be considered as wrongd answer.)

The candidate shauld ensure thal Series Codg of
the Question Paper Booklet and Answer Sheet mist
be same after opening the envelopas. I case they
are different, a2 candidate must obtain anotier
question paper of the same series. Candidate
himself shall be responsibie Tor ensuring this.

Mobile Phone or any other slectreric gadget in the
examination hall is siriclly profibited. A candidate
found with any of such objeclionable material with
himfner will be strictiy, deall ag per rules.

Pigase clirrectly fill your Roll Number in O.M.R.
Sheet, 5 marks will be deducted for filiing wrong or
incomplete Roll Number.

unauthorised matecial is found in histher
possassion, LR, would be lodged against
hirmfher in the Folice Station and he/she would
liabla to be prosecuted under Section 3 of
the A.FE. (Prevention of Unfaitmeans) Act,
1882, Commission may also debar him‘her
permanently from alt future examinations of

the Commission.
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1 Which one of the following statements is correct ? ‘
{1} Cells of all living organisms have a well organised nucleus. '
{2) Both, animal and plant cells have a well defined ccll walf, e
(3) Prokarvotes lack membranc bound organelles. '
{4y New cells are formed de novo from abiotic material.

Fraffen ¥ & ¥ @ @9 wE §?
() v whe Bl ¥ gl S W 8
() g ud 9y - aﬁa%aﬁﬁmeﬁﬁgmﬁzmm%ﬁ%l
(3) M(ﬁ%ﬁm}ﬁﬁﬂw#ﬁmwawﬁm%l
) ﬁwﬁﬁmﬁwﬁﬁwaﬁawzﬁ%ﬁ%&%(%ﬁ%%r

2 Wluch onc is the correct sequence of a cell cycle ? o
(y G —»8-G,->M 2y G, >M->G -8 -
3y S—=G, -—}M—-)G (4 Glﬂ->G2-—>S_)MI_,‘-I_.L.-
ﬁﬁmw%ﬁ%nﬁwﬁﬁmaﬁwm%? -
(1 G2 8=2G;=>M ) Gy=uM-—->G -8
3) S—-G, —9M -Gy @ ( Gy>G,—>S— M'_‘"’

W

3 The phosphate grbﬁp ‘and’ sugar molecule”of a nucleotide are !inked"'f;y -

{1} Hydrogen bond (2) Phosphodiester bond
(3} Monovalent bond (4) Peptide bond o\
g Th YROERES B WiEhe W 09 W60 AV edE Wl € -
! (1) wEEEA 49 B (2) WERSHIRI 99 BRT;
(3) vEEdE 49 AN ' (4) U2EE 9 ) o
4 Transverse section of a plant material shows the following anatomical, Qharacters =

(i)  Hypodermis is sclerenchymatous
(il  VasCular, boundles..are conjoint, closed and scattered in the grpund tissue
(iiiy Phloem parenchyma is absent ?

What will you identify it as - | ] m ;
(1)». Monocot stem ()  Picot stein KO
{3)) Monocot root {4} Dicot root
WWW&*WWﬁW@H&WﬁWW&&% .
() ouyEd germE

{i1) WWWWHWWW:}%@%@

(il WA YgaE enuRed

W OwER W Wy R e 7

() wwdawh @ 5w ¥ @) fedoed W % A
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5 Match the lists I and II and select the correct answer using the codes given below

List II

Gynoecium monocarpellary
Placenta swollen

Stamen tetradynamous
Flowers trimerous

Anthers monothecous

T [ 1w gt AR aor ghet & 99 R R 92 @ gemar @ W e

the lists :

List I
{a) Brassicaceae (i)
(b) Malvaceae (ii)
(¢) Leguminosae {iii)
(d) Solanaceae (iv)
(¢) Liliaceae )
Codes :
(1} (@) (i), (b) (v); (©) (v} (d) (@) (e) (i)
(2) @ @) o) (i) (© Gi); @) (v ) )
G) @ v (B) (v); (o) (i) (d) Gi): (&) (i)
@) (@) @), ) ) © () @) (i) ) Gv)
W T B -

= 1
(a) wfawd (i)
(b) IR | (ii)
() WRERY (iii)
(d) G (iv)
(c) forforeefy )
FE :
(1) {a) Gii); () (v); (&) (iv); (D) Gi); (&)

84 A]
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EIEILSIE T S
NER L
MCEERE

TR UehhIsSd!

Uptake of water
Cooling of leaves

ofd & IUET
quit T Siaes

Toxic element
Micronutrient

oy T
&I

) @ G @ () (o) (ii); (@ @(v); (&) (v)
Gr @ s B (v (© Gi; @ Gi); (&) 0}
4) (@) (i), (b) (v); () (i); (@) ((Ds () (iv)
6 Which one is not a function'of transpiration ?
(1) Excretion of minerals (2)
(3)  Uptake of minerals (4)
B G B GG TE &7
(1) @t gl @ seee (2)
(3) Wi wETdt @ IguEW 4@
7 Iron is a / an -
(1)  Unnecessary element {2)
(3) Macronutrient 4)
wer ¥ -
(1) o aas od (2)
(3) o 4)
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8 The rcaction centees of PS 1 and PS 1T are - it

(1) Pggg and Pqqp (2)  P3gp and Py }
PS I gam PS Il w1 aifiRean %= dam & - AL
(1) Pggo TUT Pygg (2} P3gp TUT Pygy e
(3)  Pygp WA Pryg (4)  Prop T Pego

9 The only 53-C organic acid formed as an intermediate in Krcbs cycle .i‘s -
(1) Citric acid (2) o -ketoglutaric acid . '
(3) Malic acid (4) Oxaloacetic acid e
T 9H B A T A AHIE W TR 5-C FEE oA F - o
(1) wwEhs e (2) oBRrARE w0
G) eE e 4) oieERE oW

10  The coenzyme of enzyme Pdehydrogenase is - .
(1) NADP (2) NAD o
(3) FAD . (4) Al the above N
e ReengEfre @ wereET ¥ - .
(1) NADP _ (2)~ NAD
(3) FAD (4) . Suded gl

11  The living diffcrentiated cells havinglost €hic capacity to divide can regam the capacity
of division under certain conditions, This phenomenon is termed as -

(1) Differentiation (2)  Dedifferentiation
(3) Redifferentiation (4)  Maturation

T Refe Pfed el R & s e @ ga Al 3 zﬁstrﬁfierﬁﬁrﬁ
et & gmar B gTAT B A ¥ 39 oA @ wEd § -

(1) R @) B
(3) yHfEd (4) aigwes

. 1"_..

12 Those plants which require a photoperiod cxceeding a well defined critical-,ﬁhotoperiod
for flowering are called - -

(1) Day neutral plants (2) Long day plants R

(3) Short day plants (4) Intcrmediatc plants

aﬁﬁ%ﬁﬁ‘wﬂsﬁﬂﬁgﬁﬁaﬁmaﬁhﬁm%%éMWﬁ%ﬁmm

¥, GHO ¥ -

(1) Rewr Sefm aew (2 & Raw ueg

(3) g fEw weq {4) mwadl gy
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Match the lists 1 and I and sclect the correct answer using the codes given bclow

the lists :

List I
(a) Electrostatic precipitator (i)
(b) C.FCs (ii)

(c) Sanitary landfills (ii1)
{d) Eutrophication (iv)
Codes :

(1) (@ @v): (b) (ur); () () d) (0 (2)
(3) (@) (ivy (b) (i); () (ii); (d) @) (4)

List IT

Ozone depletion
Municipal solid wvastes
Ageing of lakes
Particulate matter

(@) (i): (b) (i) (o) (ii); (d) (iv)
(@) (iii); (b) (iv); (c) (i) (d) (D)

@Iallﬁ@hﬁﬁ&am@ﬁ%%ﬁ&ﬁ@ﬁm@ww

F T B
T 1
(a) Ay sraefe (i)
(b) ¥ ww "= (ii)
(c) TRl UH. (iii)
(@l Avsfinem)
(d) gorer (iv)
F H

(1) @ @v); () (i; () (i) (d) ®  2)
(3) (@) (iv); (b) (i) () (iiy; (d) Gii) (4)

In lichens the function of mycobiont is -
(1) Absorption of mineral nutrients (2)

(3) Absorption of water 4
WEHE A HABIY @ BY & —

() wfw 9w % s (2)
(3) W& W iy (4)

T 11
AN s

TRUTET Y Ul
E I C e R R

aiﬁnﬂ'qqaref

(@) (i); (b) (ii); el (iii; (d) (v)
(a) (ii); (®) (iwy(c) (i); (d) ()

To provides shelter
All sthe above

L@ W ST

SEEEE I

Which one of the following, has maximum contribution of greenhouse gases towards

global warming ?

(1) CHy 2) Co, 3)

CFCs @) N0

faoa sofiaor & Ry Preafofan X ¥ @9 sfas A6t ¥ wathe dRE @ § 7

(1) CH, 2) oy 3)

Cardiac muscle fibres are -

(1Y  Striated, volumtary ' (2)
(3) Non striated;wvoluntary 4)
wa A T A ¥ -

(1) am, thow @)
(3) o, thos )

CFCs “) N0

Striated, Involuntary
Non striated, involuntary

e, sbos
anfag, eFtms

Antibodics against germs in our body are formed m -

(1) Liver by RBC (2)
(3) Blood by platclets 4

Thymus by Lymphocytes
Blood by cosinophils

T R W feepelt ¥ frog TRide w foiw g ¥ -

() ¥Fd ¥ o &« €. T (2)
(3) TR ¥ wiewzm 4)

84 Al 5
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Which hormones are secreted by anterior lobe of pituitary ?
(1) TSH, ADH, Prolactin (2) LH, FSH, Growth hormone
(3) ACTH, TSH, Oxytocin () STH, GH, Antidiuretic"* hormone

Wﬁm%ﬁﬂ%ﬁﬂaﬁaﬁ%%? o
1) T T A () Qﬁ@,mw@,‘qﬁmﬁ?
3) T A e AW, Rt (4) q&ré’rqa,ﬁﬁqa,@;ﬁajﬁmmﬁq

The venous system of Frog differs from that of a mammals in the presence of which
of the followings 7 :

{1} Renal Portal system (2) Hepatic Portal svstem

(3) Hepatic vein (4)  Superior vena cavac...
ﬁmmﬂmaﬁ@%ﬂmﬂﬁmﬁﬂﬂﬁﬁ@rﬁmﬁm&uﬁfmﬁﬁﬁ%?
(1) gaw Fraesr 9 (@) wFa P &= 0

3) =gd frw @ gifad dmr w0

The region of human eye from where optic nerve passes out of the ref'm_a"—is called -
(1) Yellow spot (2) Optic chiasma '

(3) Fovea (4) Blind spot

AEd AT F gheued @ 98 & el ¥ g% dte e @, Eh'éFch'iT%—

(1) 9@ &g e (2) 3% e T

(3) @a (4) oy g i

A toxic substance hemozoin rcsponsnblc for the chill_and recurring hlgh fever, in a
man suffering from malaria, is released by -

(1) Sporozoites {2) Rupturc of RBC o

(3) Female Anopheles (4" Cause not known =~ 53
aﬁﬁﬁwaﬁqﬁwéﬁhﬁﬁqﬁﬁm%tﬁ%aﬁmﬁﬁgﬁammm

SR ¥ Ry T ¥, @ R G ¥

(1) <iEeE & (2) m"o'fh'{asfﬁmaﬂ%ﬁtm%@r
(3) W™ UATHAN & (4) RO & ‘
Mouthparts of cockroach are, - s

(1) Biting and chewing «type (2) Piercing and sucking type

(3} Siphoning type (4) Sponging type Bl
fomEge % gaEmaEm ¥ — T

(1) Haw @ FGgulE THK & (2) éw@ww%

(3) PRErMEgET & (4) W wHT &

The theory of Natural selection states that - .

(1) “Hertable variations arise due to change in gene pool. _..’.:

(2) Environment has a role in evoluation.

(3) Natural selection acts on favourable and useful variations whlch appcar amaong
individuals.

(4}  Acquired characters are inherited.

gk aXT % E ¥ oegER -
(1) ongaim Rfmmad o9 @9 & ofteds € sa= Bdr 1
(2) TRHE F TrEIer B R T 8

(3)  WPkid ar St ¥ S oge T swdrtl Rifireanel woaw e st ¥
(4) Ui @@w duTE B )

ot
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Allopatrie: speciation is duc'to -

(1) Mutation

(2}  Geographical separation of populations

(3) Migration of members of onc species to other populatlon
(4) Hvbndlzatlon between closely related species

Preenforss Wify sgwem @ wwor ¥ -

() SufEEs

(2) wEReEl w1 WS gageher

(3) TH vy % GeE @ gl wafe ¥ weww

(4) THRY wenadl ¥ WEr

In Drosophila (fruitfly) red eye character is dominant over white cye character, when
a homozygous red eyed individual is crossed with homozygous whitc cyed individual
and F; generation arc intercrossed, 12 (twelve} individuals arc produced. White cyved
individuals of these will be - -

(1) three (2) six .(3) mmne - (4)  twelve
SIaifer (Bavadl) o W A5 he TS 9T WHTE B ¥ | iy U W e A1 gageTet
Wl HUH WEI AR A GAGEST W0 ¥ HEROT 8 wE F, galy d I geeer
R 12 (aeE) wwll W @ o ST wha Y am Wiy @ we e, -

(1 @ (2) w® (3 (4) " 3w
Which .of the following is a sex linked deseasc 7 . -

(1) Nightblindness (2) Glaucoma S )
(3) Eczema (4) Habmoplull‘l L
Freifes & ¥ wiar O for wwew o B -

(1) (2) , THGHH ()

(3) BrEE (gfemE) (4) €T
What arc the biological tools of 'Recombinant DNA tcchnology' ?
(1} Restriction enzymes (2), Cloning® vectors

(3) Competent host (4) All of the above
ok ii e I A e A (15l R (0 o el | O

(1) vitEy fpvaes (2) wofm deed (awE)
(3) A HoE™ (4) oUtEF Fd

A committee set up by«Govt. of India to make decisions regarding the validity of GM
(Genetically Modified)wrescarch and safety of introducing GM organisms for public
service, 1S -

(1) NBPGR (National Bureau of Plant Genetic Resources)

(2) CBD (Convention on Biological Diversity)

(3) CMS (Convention on Migratory species)

(4) GEAC (Genetic Engineering Approval Committee)

qE TER ZTU Toq T, a‘rwﬁm*@wﬁa(GM)ajwma%ﬁwam
TR WUFAE WA % 9 STA % Wi geen ¥ watam ot @ % g i
() © & @ o o (Ry ongelie A & U o)

2y . @ 9. (Gfe ftgar o)

3) W . e AR yenka @ i)

@ W 5 w @ (enyafies afviten deiy afifa)

84 A 7 | COIltd;;.
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Animals exhibiting asymmetry, radial symmetry and bilateral symmetry respectively are -

(1)  Crab, sponge, starfish (2) Sponge, crab, starfish .

(3) Sponge, starfish, crab (4) Starfish, crab, sponge .
ool < wer ormR, orfm wPIRT dar Rest WPy e w ¥
()  Feel, Wi, qEEsar () i, %®eT, AUESH

(3) Wi, TG, HEsl (4) TG, HHST, Wiwl

Which group of Placenta 1s found in human being ?

(1)} . Epithcliochorial - Diffuse (2) Endothaliochorial - Zonary

(3) Haemoendothelial - Discoidal (4) Haemochorial - Metadiscoidal

Tyl ¥ w8 WIE W (Sna) 9 o 3
(1) uhfafmiow - fefa (2) TefatEETEds - TEmeEr

(3) it - ey (4) €WmREw - uyEkE

The total number of orbitals associated with the principal quantum number n =4 is :
(Iy 4 (2) 8§ 3) 12 4) 16

TG daA @ n o= 4 ¥ gEiug @ saw B ger ¥

(1) 4 ) 8 (3) 12 4) 16

The pair of species having same bond order is :

(1) N, Cl @ 03"F, @) NOWCO (4 O, N,
fads & a8 g7 T & a0 @9 ' e A
(1) Ny, ClL @ 03 .F, (G N0, CO (4 0, N,

[l gm carbon dioxide gas may (be gbtained by combustion of x mole of methane.
The value of x is :

(1) oO.11. 2) .0.22 3) 0.25 4y 0.50

AT ® x AW P Ted Al AE FEA SRAEUES U bl W qwd & |

X &l HH %‘ : ;

() o.1 2y 022 3y 025 4) 0.30

The molar imass of an ideal gas can be calculated from the cxprcssibn :

dRT RT Pd - dRT
= M=—~ M=— M=—
(0 v @ Pd (3) RT (4) D
RS AW @ R P wie B S| fer o wen %
dRT RT Pd dRT
M:—-—— = —_— = a— = —_
M v @ M=p ) M=o @) M=—

The molecule / ion having T-shape is :

(1) BF, (2) NH; (3) H,0* (4)  CIF,
T-sgld AT ] [ ST ¥
(1) BF; (2) NHy (3) Hi0" 4) CIF;

84_A] 8 [ Contd...



36 If cxcess of AgNO; is added to a solution containing one mole of CoClydNH;,
the number of mole(s) of AgCl precipitated will be -
(1 o 2 |1 (3) 2 4 3
A AgNO, w1 it ©F TR P § P s Ry CoCl;4NH; &1 T e
SURIT W, G AgCl F oradfa @ B
(1 o @ 1 3) 2 (4) 3

37 [CO(NH3 )S SO4]BY and [CO(NH3 )5 Br]SO4 show which type of isomerism ?

(I)  TIonisation isomerism (2) Co-ordination isomerism
(3) Linkage isomerism (4) Optical isomerism

[ Co(NH;);S0, [Br i [Co(NH;), Br]SO, fa e @ e ek

H L 7
(1) == goeaEar (2) SUHEEHST FREIEdr
(3) dE ) THrETEar 4) Yl gWEgadr

38  The increasing order of crystal field splitting strength of ;NHS, CN(? NO? and OH®
ligands is 3
() NOP < NH;<OH< CN®  (2) NH; < ofi® £Ne < NOY
) OH® <NH;<NOP <CN®  (4) OHY<NH,; < CN® < NO
NH;, CN9 NOY . OHO firigw =1 aadh 3\ ree B Rrare avam =r w7 % -
() NOY < NH3< OH®< cN® () INH; < OH® < ON® < NOY

G)  OH® <NH;<NOP <CN%~ @ OH® < NH; < CN® < NOS

39 The corrcet order of first ionisation ‘energy for C, N, O and F is -

() C>N=0=>F 2 O>N=>F>C(C
B) O>F>N>C @ F>N>0>C
C. N, O X F & T wam oo oot o1 o8 w9 &

(1) C>N>0SF ) O>N>F>¢C
3) O>F>N5>¢ (4 F>N>05>C

40  The pair of amphoteric oxides out of the following is :
(I) €CaO, CLO; (2) CO, SO, (3) H,0, Na,0 (4) ALO;, As,0,

Frefaigs & @ swawl owEs & g ¥ o
() Ca0. CLo, (2) €0, 80, () H0, Na0 () ALOs As,O;

41 What is the pH of a 1 x [0-% M solution of HCI ?

() 8 2 1 (3) 6.9 (4) 7
1 <108 M HCI Ry & pH @& & 7
(1) 3 2) 1 (3) 6.9 @ 7

84 A 9 [ Contd...
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For a reaction to occur spontancousty :

o) (A.HwTAS) must bc negative ) (AH+TAS) must be megative

(3) {AH) must be negative @  (AS) must be negativ!e-_

Bt ofifrn ¥ wa: waida @ & oo

(1) (AH-TAS) =i € 9 (2) (AH+ TAS) oTeten z‘ﬁn (i
3) (AH) woreE € Wiy @) (AS) oo B R

In thc reaction :

3 Cl, + 6 NaOH — NaClOj + 5 NaCl +3H,0
the clement which loses as well as gains elcctron is :
(I) Na 2y < 3) 0O 4)
P aifwfpar & @
3Cly + 6 NaOH — NaClO5 +5 NaCl +3 H,0
a5 a@ N geegE @rar W ¥ ofit weer A @ ¥

(1) Na @ A 3 O (4)
Froth flotation proccss 1:5 used for the concentration of :

(1)  Oxide ores (2)  Sulphide jores

(3) Chloride ores (4) Amalgams

¥ waw oty @ swdm P % oammer ¥ Rear S oY)

(- HIFAES IR (2) TTDIRS TR
(3) aaﬁm‘s UEh, (4) omwT™

“Water-gas’ s
(1) CO+H0 (@ CO+H, (/@ CO+N, (4
(1) CO+H,0O (2) CO, 4% H, {3y CO+ N, 4

Which of the following is.a mincral of copper ?

(1) Calamine (2). (Cryolite (3) Hacmatite E)]
firfafag & ¥ @9 WOLHAC B G § 7

(1) e (2), WHEWEES (3) FTERE 4)

IUPAC ndme,of L s o

(1) ['=_ Ethyl - 3, 3 - dimethylcyclohcxane
(2) ol - Dimethyl - 3 - ethylbenzenc
(3) 3 - Ethyl - 1, 1 - dimethylcyclohexane
(4) 3 - Ethyl - 1, 1 - dimethylhexane

€O + H,

CO + H,

Malachite

Hrree
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Number ‘o_f' o and | bonds in butenyne are :

(1) 50¢,3x 2y 70,3m 3) 80, 2m (4) 60, 4m
@‘i‘l’{‘-’f"(buten}me) ¥ o am n e N ogen ¥

(1) 50, 3n 2) 70,3xn 3) 80,2=n 4) 60, 4nm

Name. the atkene which on ozonolysis gives acetone :

(1) 2 - Butenc (2) | - Butene

(3) 2, 3 - Dimethyl - 2 - butene (4) Propene

39 UM @ W gasy fres st & T o g ¥ e
(h 2 - =M @ -

(3) 2,3 - SEAR - 2 - M (4) b=

Which of the following groups directs the incoming electrophile at meta position in
benzene ring ?

(1) -C,yH, (2} -NHCOCH; (3) -OCH; 4) -COR

o § § wA-Tr o o AR soeRe et & S awa @ der Rafy o Aefi
Rar & ?

(1) -C,H; (2) -NHCOCH, (3) -OCH; (4) /~COR

Which hyvdrocarbon on warming with mercuric sulphate apd dilyte sulphuric acid forms

carbonyl comopound ? _
(1) Alkane (2} Alkene (3} Alkyne (4) Benzene

TFg wTEgEET F TR Tehe TN @ GOWYNE SpelE 91y T i o wEi
RURCR: s BT S
() Qe (2) TN (3) HiwhE I )

The glyptal is a polymer of -
(1) Phenol and formaldchyde (Z2)» Styrene _
(3)  Ethylenc glycol and phthalic aCid. (4) Ethylene glycol and terphthalic acid

faves fry @1 qgad ¥ ¢
(1) Teiw o wifergs (2) wEiA
3) Ufdm s ot dfu s s (4) e Temw ok TXdfve ot

Polythene is an examplewof the following type of polymer :

(1)  Thenmosetting ¢ polymer (2) Thermoplastic polymer
(3) Fibre {4) Elastomer
Uil P were%F 9g@e H SQET §

(I) TI9gE qEs (2) NgEd TEEE
(3) 4) UURT wAS
Norethindrone 1s an

(1) Antifertility drug (2) Enzyme

(3) Antacid (4}  Analgesic
H“T{'Qﬁ]?ﬁ'-r F T - ‘

(1) vRmr=eemr shwy (2) demsw

(3) ufg-sm (4) disErd
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The metal present in vitamin By, is @ o

(1) Zn (2) Fe 3) Mg @ Lo

fraftm B, ¥ Tuigg ug ¥ ¢ -

(1) Zn (2) Fe (3) Mg 4 ,Co

Which of the following is narrowspectrum antibiotic ?

(1) Penicilline - G (2)  Chloramphenicol

(3) Ofloxacin (4) Vancomycin .

P & @ B demt- A wRetE ¥ 7

(1) s - G (2) AT

(3) AT @) JBERE

The flocculating power of which ion is highest for Fe,0;.xH,0 sol :

(1) PO, ) AP? (3) Nat (4)  TFe(CN)4I*
Fca04.x H,O T & fq fipe oo & &0 aoqan o=dad & 7 7 '
() PO, (2) APt (3) Na' (4)  [Fe(CN)4I*
A non-ionic detergent is formed when steric acid reacts with :

(1) Laurvl alcohol (2) Glycerol

(3) Glyceryl oleate (4) Polyethylene glycol

(1) i@ Ueweie ¥ @) fegda®

(3) fmafE stz 9 (4) (OO EEE d

An example of a colloid having gas as dispefsed*phase and solid as dispersion mediam is :
(1) Butter. o (2y" Pumice stone R,

(3) Dust (4) Froth

BIATES, ﬁmﬁ’wﬁﬂmwﬁqamtrﬁmwm@m% Eﬁra'crrs'w%
(1) HA=x@q (2) ¥ gy

(3) g9 . ' &) =

Photochemicat smog is, also” known as : .

(1) Classical sniog (2) Onidising smog .

(3) Reducing smog (4)  Acidic smog

SIS HET 58 AW Y N s W ¥

(1) Fotese g ) HATRIEE qA-PET

(3) SIS gI-HEq (4) oE YA-BEQ

Two spheres of 1 kg and 3 kg are dropped simuitaneously from the same height.
The ball that will hit the ground will be (If air friction is ncgllblblc)

(1) 1 kg 2y Skg

(3) Both will reach simultaneously (4) Insufficient data

lkgd Skg % & W O9F SO § T & 999 W BN W@ ¥ IGﬁTﬁFITEmﬂﬁ
wuﬁq@n%m(ﬁwmmzﬁrmwﬁ) :

() 1k @ 5ke

(3) & TF g uguh (4) omwEld g
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At what angle with the horizontal should a player throw a ball so that it may go to
a maximum distance ? ’

(1) 300 (2) 45° (3) 60° @) 75°
T faad) dRe woae & fow B T gw A B Rigd e afteaw g s W e ?
(1) 300 2) 45° (3) 600 4 75°

A mass of "m” kg is rotating by mcans of a string with angular speed of “s" rpm.
If on keeping the radius constant and the tension in the string is doubled, the resuitant
angular speed is roughly.

S R

() =n 2) 2n 3)  on (4)

’mﬁﬁmwwwﬁm% " TR AR s ¥ B A ¥ W
@ ¥ | ol B @ AW fer w@w 5u @ @ o S w5 Rar e o afond
B T T T -

() =n (2) 2n 3)  on (4)

(SRR

A particle moves along X-axis from x=0 to x=5m (underva variable force

FF=7-2x+ 3x% Newton. The workdone in this p;ocess 15¢0-
(1y 7013 ' ) 2700
(3). 3517 (4) 1357

X0t % oy U w0 uH uRadl 96 A&7 2x+3x A % o ¥ x=0
¥ x=5m d& Reala dar ¥ 1 3@ ghbwr & R W et @ ww e

(y 707 @) 2707

(3) 351 4y 135]

If we go from equator to the poles, the value of “g” will -

(1) decrease (2} increase

(3} remain unaffected (4) become zcro at poles

fagerq T@r ¥ gal et W W gt W oAw -

(1) =& (2) =M

(3)  SwR@ & @ a9 g s W

A capillary tube dipped vertically in a liquid. The meniscus of liquid in the capillary

is in level with the fiquid outside. The angle of contact is -

(1), Zero {2} o900 (3} Acute (4 Obtuse

TF HIFE Bl HETER TF 79 § garan snar § e wame & g9 & I od Sl
F YET F XG P TG b UG B AT B | TT SGET F W HOT R/ AA BN —

() = (2) 90° (3) = B (4) iy @iT
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In the figure below, the potential difference across the 2 Uf capaciton:.‘ivill be -

(1) 200V () 400 V (3) 600V @) 900 V

The thickness of depletion layer in p-» junction diode may be increased by -
(1) increasmg the temperature of device '

(2) increasing the reverse bias

(3) decreasing the temperature of device

(4) decreasing the reverse bias

p-n € eHE ¥ gEmm U B AR 9o W dEd ¥ -
(1) o &1 99 9= (2) YUYE SrI9 H HE HEEHT
(3) g @& 99 T (4) U §OE B A, HIRBL

The figure below shows two semi circular current carrying loops of radii &) and R;.
The magnitude and direction of the magnetic field at the common centre 'O" will be -

i m ofigg ¥ R dwr R, Bewm & @ oidled Rem W@ ¥ e gw vafia @
W ¥R $% 0 W TERE &9 GuiEmT g fem e -

u

M (R R, | Nomal to plane directed upwords / T% % e ST H @i
Hol (1 1

(2) 4 }g“’g} Normal to plane directed upwords / T@ % TREY HIT BN ST
A1 1 '

Gy \'R_1+ }!52_ ) Nommal to plane directed downwords / T % @wlq “d B X
Lol (1 1) '

e 4 JQF]-_ E;} Normal to plane directed downwords / & @ e 7d &1 81T
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70 Whlch of the following pairs of quantities donot have same dimensional formula ?
(1 Torquc and work
(2) 'T‘t“zght year and wavelength
(3)  Pressure and eclastic constant
(4}  Angular momentum and power

ﬁnﬁ%gﬁmwﬂm}mﬁtﬂawwﬁ% ?
(1) Sl qur wrf
(2)  wenEy g i
(3) T T YR v
(4) @i €3 qur afm
7ok
71 An A h[ctc completes onc round of a circular track of radius R in 40 seconds.
What will be his displacement at the end of 2 min. 20 sec. ?

(1) Zero (2) 2R 3) ZTER---.. 4) 7aR
ﬁmRﬁsgﬁaiﬁwwwwmﬁﬁmﬂmﬁw% Y ¥ 2 fime
20 S yyay wESl frenuw @@ wwmo ?

() = 2) 2R (3) 291;-13}_ @ R
= = = - _
72 . If ( + B = ‘A — 8| and A, B are finite then -
gy 1
() A is parallel to B
SR BE
(2} A=B ;
- -
(3) A and B arc mutually perpendicular - e
— =
o |4-[3
B ‘2}+§(:‘E}—§' qeTA TE B Uit ¥, oW
() 4., B % wag &
-5 =
(2 A4A=B
3) A4 @ B T O % T0EY WREd ®
— —
@y d) = | B
73 The sate of change of angular momentum is equal to -
(1) Force {2} Angular acccleration
(3) Torque (4) Moment of Inertia
( == (2) - wiE @R

84 Al . | 15 [ Contd...




74

75

76

77

Two waves are given by ¥ = a sin (e —kx) and yy = a cos ((ﬂf Ffd")'.',
The phasc difference between the fwo waves is - -

T T
(1) 4 (2) 5 3 = (4 zero

& qail @ ey = asin (o —kx) @ur yp =a cos (et — kx) %1

T T
m 7 (2) 2 3) = (4)y I=

Half life of radium is 1600 years, its avcrage life is -

(1) 6200 yrs. (2) 4800 wrs. _ {(3) 2309 wvrs. 4) 4217 wyrs.
e &) @ omg 1600 9 ¥, S offwd eng Bl - -
(1) 6200 a9 (2) 4800 99 (3) 2309 99 @) 4217 a9

L | ]

Suppose A= BC, where 4 has the dimension Vi and C has the dirﬁéhsion E
Then B has dimensions. _
W 3 o L o F w T

M M L M

wA:Bc,aa*an?rﬁmﬁ—ia%amcﬁﬁm%%awzﬁf&m%-

1 Lz 2 L 3 & 4 LT
0 5 @ 7 3 a2 @

A 3 kg object can move along) the X-axis. It is subjectcd to a force in.the positive
X direction; a graph of ¥, as“a function of time ! is shown below. Over the time the
force is applicd the ¢hange i velocity of the object is -

5 kg W TH TG e % orgier I WA ¥ | 59 9C T Xeas @ R &
TH qe @ Wl & CF %1 gug ¢ F WE % T F U% WE A9 quiEr T E | weE
fras frd e oriRg ¥ ¥ agg ¥ o F uivEdd ¥

F(N)
4- _________________
2..
3 1 |
() 0.8 m/s Q) 1.6 ms () 2.3 mvs 4) 4.0 w/s
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An object is dropped from an altitude of one radius above Earth's surface.
If M is the mass of earth and R is its radius, the speed of object just before it hits

garth is given by -
@r oM f2GM ca
R ) 2R R @ R
o gl & Bewm ¥ oIveR duE ¥ AR e ¥
RE @

Th 95 g T W gAl
uﬁqahmme%amgﬁﬁﬁﬁw &haﬁmwm‘é{w
T B AT T -

%
@r e od [
R (2) R (3) R {4) 2

Standing waves are produced by the super position of two sinusoidal waves, each
of frequency 100 Hz. The distance from second node to fifth node is
60 cm. The wavelength of each of the two original wave is -

(1) 350 cm (2) 30 cm (3) 40 cm {4) 20 em

< AR G To® O (g 100 Hz § searife St st i fafer st 3 1
Ta¥ Prefe ¥ wied Fredg & g0 60 cm ¥ 1 A1 g ol A weie w e ¥ -

z,

(1) 50 ¢m () 30 cm (3} 40 cm @) 20 ¢m
The risc in pitch of an approaching siren is an apperent increase i its -

(1) Speed (2) Amplitude (3)  Frequency 4y Wavclength
Prepe o1 @ e R B aRa W wew, ol gfg ¥ owEm (FEe) -

) = (2) emw ® (3) omgh & (4) e F
The number of degrees of freedom of a rigid diatomic molecule is -

(1) 2 (2) 3 (3) 4 4) 3

& Fe feue oy Y wdsy el @ uEd ¥ -

(H 2 2y 3 (33 4 4) 5

A point particle with charge g is placed\inside a cube but not at its centre.
The electric flux through any oné side of the cube -
(1) is zero

(4} can not be computed using Gauss' Law
aﬁsrquﬁgmwm%tﬁmww%wm%—awqﬁl
T % fear Nt ww ued ¥ g o (W) -

() =%
q

@ o ¥
q

3) 6e, ¥

(4) vwsg Fram grg afetwg @ Rear ST owwar
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83 A certain wire has resistance R. Another wjre of the same material. has half the length
and half the diametér’ of the first wire. The resistance of the second Wirfe is -

UL

1 R o

o By ® 7 U
et o & sy R ¥ | S v W @ e A ¥ R wad e ar @
STl el AT WEW W B OGN ¥ | qE AW w wfede ¥ -
| R R
(1 2R @ G 5

m 22k @

(4) 4R

ST

84  In a Young's double slit experiment, the separation between slits is " and the scereen
is a distance ‘D' from the slits. ‘D’ is much g greater than 4" and 3, is the wavelength
“of light. The number of bright fringes per unit width on the screen is -

Dd . DA d AT
n = @ ® @ 7
a1 & fg feg wdm ¥ Rl & W w9 ¥ dar wE Red @ B gl T ¥
D, d ¥ gga oftw ¥ 9ar A v F aORHE ¥ | W W Al s den ¥ aninel
st = dem ¥ -
Dd DA d AL
0y == @ ® @ sz
8 Ina phqtoelectrlc effect experiment at a freQuency above threshold, thc number of
photoclectrons ejected is proportional to - 'i.=.
(I) their kinetic energy
(2) their potential energy
(3) the frequency of incident light
(4) the number of photons that hit the sample
ww&rﬁgﬁwmﬁ%ﬁ%mwmw w%iasﬁ‘crﬁ‘ﬂ‘raﬁm
(1) s-—la?l-nf%m T F (2) ﬁaﬁm Foll ®
©(3) i SR AR % ) wiEs w emafkig WA @i &
T T A

86  Which of ¢he. followings can be a superconductor at 4 K ? L

{1) Silicon (2) Germanium (3} Diamond (4) Mercury
suffaa ¥ & 39 & 4 K W ofams & %o ¥ 7 C
(1) fafwer ) <retEE @ & @ 9w

o
87 The equation of contmulty for the fluid flow can be derived from thc '
conservation of - - -© '

(t) mass . (2) cnergy (3) momentum  (4) pressire
WA YA % Tl gia el G T § g S awdl
(1)  w=w (2) it (3) @am ). 7
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88 A 1.5 m woman wishes to sec a full length image of hersclf in a plane mirror.
The minimum mirror length required is -

(1) 15m ) 3m 3) 075m ., (4 6m

151naﬁﬁq%mmmaa&wﬁmﬁ@mﬁmw&rﬁaa@mmﬁ%l
oA g @ T W ¥ -

(1) 15m @ 3m G) 075m @) 6m

89  The product L, €, has the same unit as

N2 1 _r 1
I (Velodity)™ @) (velocity)?  ©) (Velocity) @ 'T;(Velocity)%
TOHER W, €, F AEEH qE ¥ oA F ¥
5 1 I 1
(& 2y @2 3 am @) T
(hm)?
- —
90 If A=6/i-8; then 4 4 has magnitude -
(1 10 (2) 20 (3) 40 (4) 30
af A=6i-8j T 44 @ WETT ¥ -
(1) 10 () 20 (3)"40 @) 30

91  When a haploid embryo is developed«from cgg or any other cell ofan embryo sac
of a plant without the act of fertilization, such a development is -called

(1}  Amphimixis (2) Non-recurrent apomixis
(3) Recurrent apomixis (4)  Adventive embryony

mﬁ&é’rwaﬁmaﬁﬁma&m%a&ﬁﬁﬁm@r&m%ﬁmﬁw
o &, P yer @ wfedw B ¥, o 39 veR & uRadw @ @

(1)  Fvufrsor (2) SEEAT SIREA
(3) T (SgRY) ST (4) ot Yo
'92 Which of the following algac lack motile cells in their life-cycle ?';:
(1) Chlorophyceae (2) Xanthophyceae .
(3) Phaeophyccac (4) Rhodophyceae .
Teifed 4 ¥ B ¥ Sl & otad O A oiadld wifdmmrel wr etwe wer ¥ 7
(1)  FERwEEE (2) SFABREl
(3) TrarmrEdr @) rermEE
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Which onc of the plant growth regulators would you use, if you are. askcd to "bolt"
a rosette plant like cabbage before flowering ? -

(1)  Dormins (2) Cytokinins

(3) Gibberellins {4) Auxins
meﬁ@faﬁmwﬁw%qﬁ T W%@Wﬁﬁ?ﬁm
T | AR R ﬁmﬁraa e & SuEE w7

(1) S (2) EEEEENE

(3) frdfa= @) ot

Photo rcspiration is accomplished in -

(1)  Chioroplast, peroxysomes and mitochondria
(2} Chloroplast, golgibodics and mitochondria
{3) Chloroplast, DNA and mitochondria .
(4) Chloroplast, RNA and mitochondria
wERT I W B ¥ -

(1) FRRE, WEger a4 et ¥

2) W, TeiEE 9 TEawmiE |

(3) wgwre, ST 9 aedwted ¥

(4) AR, FRUAT I Al §

What is 'Forcst of Nephridia' in Earthivorm “7

(1) Septal Nephridia present in clitellar” segments.

(2) Intcgum'cntary Nephnidia piesent in clitellar segments.

(3) Pharvngeal Nephridia present in 4™, 5% and 6™ segment.
{4y All Ncphridia preseni_inspostertor segments of bédy.
U X ga o g7

(1) FEESAL oSl A,SUREd Uil SEiiand |

(2) FEEEAT WIS ¥ IGRUT  HEAERT ST |

(3) 4. 5 6wrsl ¥ Iuityd e SEhe |

(4) it % ugg @esi ¥ sufug @ sefifed |

The organs of different specics that arc related to each other through common descent
(origin) though become functionally different arc called - -

(1) Vestigial (2) Analogous

(3}  Non-homologous {(#) Homologous
ﬁﬁﬂmﬁﬁﬂa%mﬁmﬁiﬁwméﬁ%wgﬁﬁmﬂwﬂ%ﬁm% TEAN © :
(1) erasrd 2) wg

(3 oTEHeT (4) guaa
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Characters of which of the following groups are present in all chordates in some stage
or other of their life cycle ?

(1)  Mammary glands, Hair, Pharyngeal gill slits

(2) Notochord, Pharyngeal gill slits, Dorsal tubular central nervous system

(3). Notochord, Scales, Dorsal tubular central nervous system

(4)  Pharvngeal gill slits, vertebral column, Notochord

frafafaa & 3 few o1z & @ of saeke & shew = & Redl = Redt srmen
7o s ¥ 7

(1) w9 wiaar, o0, 785 s fos

(2) 9B =, wEl F fm, gdy e S dfier §u

(3) Y= U, 9k, Iy ARTEd Hiwd e 6w

(4) T FE b, BAF T, T 9

A blastopore is found in -

(1) blastula and is the opentng of blastowel.
(2)  blastula and is the opening of archentercn.
(3) gastrula and is the opening of blastowel.
(4) gastrula and is the opening of archenteron.

HH Y 9T ST § -

(1) <= & qM 9% BRH-—TE B ¥
(2) wiwEr H qW 9§ omers & BE ¥

() Trgar ¥ wur 9% eRE-TEr @ BE ¥
(4) Fegwr ® qur G oM F w3

Transfer of DNA from one bacterial cell to another by a bacteriophage is called as -
(1) Transformation (2) Transduction
(3) Translation (4) Competence

SHETTHIST BT T SiaTy] By, o gl B % SLUA.G. B =il
FEET 5 —

(1) EUR (2) AT

(3) wiEAA 4) wmHE

Indian curd is,obtained by fermentation of milk by
(1) Lactobacillus and Streptococcus bacteria

(2}  Lacrobacillus and Clostridium bacteria

(3) Lactebacillys and Micrococcus bacteria

(4) Lactobaciifus and Rhizebium bacteria

gy % fvaw ¥ g o W ghr ¥

(1) dAwdddoy 9 guelEmg SauE ara
(2) wFEdTg 9 FREYT SavEi g/
(3) weAHeg 9 AEHIHEE SiEel g
(4) FeREdTT 9 TrwieE SENs &
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Which one of the followmg is extrachromosomal, self replicating and c1rcul'1r DNA
molecule present in bacterial cells ?

(I Cosmid (2) Plasmid

(3) B-chromosomes (4) Bacteriophage

Frafwfad & € & W, ﬁmaﬁﬁm@ﬁwaﬁwwaﬁﬁﬁw =Rk
Y ¥ ViopRmry w0 9rn U agee] S.UA sy ?

(1) s (2) wWhES

(3) HopEEm @) Yhefats -

Match List-] and II and select the corréct answer with the help of codes _given below
the lists : ' N

List-1 (Disecases) List-II (Microorganism genera)
(i)  Diptheria {a) Varicella

(i) Whooping cough (b) Rubeola

(iii) Chicken pox (¢} Bordetella

(iv) Measles ~ (d) Yersinia

(v) Pneumonic plague {e) Corynibacterinm

Codes : '

(1) @) @ (i) ) (i) @) (v) (b) ) @

(2) (@ (e); (1) (@); i) (b); (v) (€); (V) (@)

(3) (i) (@), (D) (c); (iiD) (); (iv) (b); (V) (d)

@) () @) () (b); (i) (d); (@v) ) (v) (o)

gha-1 9 I % gifrg A qar gfed & 0 R g8 & e 9 @ T
B °gaT BN

g1 () WERIE(EER q91)
Gy ehfar (@) Jhgen

(i) GfT @w _ (b) Sh@er

(iit) Fyw iR (¢) wRRwr

(iv) HAretemto (d)y Tt

(v) =R W (¢) wiERfrEEy
EE .

() @) @) () (D) () (iv) (b): (v) (d)
2) @) (&) (I Esai) G} () ©); ¥) (@
Gy ) @) @Bfe): i) (e); (v) (b); v) (d)
(4) (@ @) @) o) (i) d); @v) ) ) ()

After vaccination; the body builds up

(}) Lymph (2) Plasma (3) Antigens {(4) Antibodies
BRI F YYAR], X I B .
(1) fo= ) (3) wheE (4) wRRd

The first hormone produced by bacterial culture is -

(1) Testosterone (2) Thyroxin (3) Insulin (4) Adrenaline
Shavpestt & wadw ¥ Sold wuw gEe ¥ -

(1) TR (2) uEAfRET 3) THeE (4) uEARA

84 A] 22 [ Contd...



103

106

107

Follo“mg arc the steps of the process of "Recombinant DNA Technology :
(i) “Isolation of genetic material. ot

(1)  Cutting of DNA at specific sites.
(i)  Amplification of gene of Interest. o
(iv)- .Inscrtion of Recombinant DNA into the host cell. =~
(v)  Obtaining foreign gene product. S
(vi) Downstream processing. .
Which of the following is the correct sequence of the steps ?

1_;13'.

B

() ), (), G, (v), (v). ) @) (v, (i), @), [@),Gv), (vi)
(3)  (m), (i), (1), (iv), (v), (vi) (4) (), (@), (i), (iv), (V) (vi)
g S wfafy @ ufear % oaer ﬁrwqm g o

() oyt T @ guEsTel S

(i) Fugm & fafire wal 9v fRages)

(i) 3fwd w0 FEE

(iv) T SLUAE. @ AwEE BT F . S | o

(v) TRM v Iar gra wEr TR

(v) @HQ'CIT%?E o 1B :
ﬁwﬁﬁ@aﬁr@rwﬁwmmaﬁ%? IR &

(1) (@), Gi), (m), Gv), (v), (vi) @) (v), (iii), (i), (II)‘ (W) (VI)
(3)  (u), (), (). (), (v), (v @ @, @, (llll_)__ (IV) ___(}’) (vi)

Restriction endonucleases arc widely uscd in genetig cngi'nce'r'iﬁ'g_:-’Taéqause -
(I) these arc proteolytic enzymes which can inactivate hannﬁi:l"‘firotem's.
(2) these can join different DNA fragments,

(3) these can cut DNA at variable base sites. e

(4) these can cut DNA at specific basc sites.

wiery s qﬁaﬁmwﬁmmﬁmﬁﬁﬁwwmw%wﬁﬁ—
(1) ﬁmmﬁﬁwﬁ%%ﬁmﬁaﬂwmﬁﬁﬁmmﬁ%l
2) ¥ U & faiw wvEl BEs e 3 TR

(3) ﬁawqaﬁqﬁaﬁﬁmwﬁ@rﬁ@ﬁ@amm%l

@) A AN aﬁﬁﬁmmwﬁﬁﬁaﬁﬁmmp%ﬁ a

The most effectivé, method of in vitro amplication of desnred lgq:nc‘s is -
(1) PCR (Polymerasc Chain Reaction)

(2} PAGE (Poly Acrylamide Gel Electrophorcms)
(3) -CE (Capillary Electrophoresis) : .
(4) HPCE (High Performance Capillary Electrophoresw) S
shoq o & o vaew o gaifum wardy fafg ¥ -

() Wdrem (Afarte e sthbe) |

@) dshd (@S da R

@ wadi (o ﬁmm Firer Rrga-For- "él?-l‘ﬂ"f) S
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108 What is ECO Rl ?

(1) An enzyme capable of catalysing the joining of ends of DNA fragments.
(2) A restriction endonuclease obtained from a bacterium. .

(3) A wvector.

(4) A bacteriophage.

Eo g ®E?
(1) s fevas o Sog @vEl % 5l & sies B e ot safa w & gad far d

(2) wuﬁ?amﬁqﬁm@&ﬁ%sﬁuﬂ**ﬁﬁwm%l
(3) uw qmaed (@FER) |

@) TE St o
109 The sheep 'Dolly’ was created by -
(1) Nuclear transplantation © (2) Nuclear Fusion
(3) Blastocyte fusion (4) Qocyte transplantation
A THE de g T oA -
() %= whiduw @a@ (2) F=E gwEE &
(3) RIEEL dHAT B 4) o= wlahaeT aRT

110 Enzymes, Lysases are responsible for -
(1) Hydrolysis of complex molecules
(2) - Addition of molecules to double bonds
(3) Elimination of groups to create double bond
(4) (2) and (3) both
T=TEH Wge (Lysases) T % U TAREE —
(1) wifew ovjell & w@ewEes & fAw (2) %ﬂ‘ﬂﬂaﬂaﬁﬁsﬁnﬁsﬁm
(3) uE ¥ fame 9 T s (@) ) 9 (3) g

FHE F g
111 All Lipids upon hydrolysis yield
(1) Monocarboxylic acids (2) Dicarboxylic acids
(3)  Trnicarboxylic acids (4) Mixture of above threc
ol el & e @ Safed @ ¥ -
(1) =eEirEfas s (2) SEFEITED T
(3)  FISTTEfRIITR) S (4) Sugad dFF e fesm
112 Which of the following is not. an essential amino acid 7
(1) Valine (2) Leucinc (3) Alanine (4) Isoleucine

e F 4 @R oay® (essential) UHFT Ofte AR %P .
(1) it 2) wEA (3) TEAH (4)  oTEHRgER

113 Glucose and fructosc have following structures -
(1) Both have furanose structure.
(2) Both have pyranocse structure,
(3) Glucose has pyranosc structure and fructosc has furanosc structurc.
{4) Glucose has furanose structure and fructose has pyranose structure.

R R pEw H P A o 3 -

(1) < A REE g I §

(2) I B U wrEE e §

(3) TEE F UEEH GO qar FERE B W §XaT BR§)
(4) TEE B WG O 9N pRE B IR Ee g ¥
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True waxes are -

(1)  Protcins (2) Carbohydrates

(3} Alkanes (4) Lipids .. .

& Jag (Truc waxes) BRI & —

(1) uéw (2) FEREESE

(3) Uwhw _ 4) fufe

The . shape of XeFy molecule Is :

(1Y Hexagenal (2) Trigonal bipyramidal
(3) Regular octahedral s (4) Distorted octahedral
XeFg a9 &l Gﬂ@'ﬁf Bl &

(1) weseE (2) P RO
(3) Frafm vy (4) Tmg ewal

Among the following ions which one has the highest magnetic momentum value ?
() [CrH0)1%" (2)  [Fe(H,0)1™ (3)  [Zn(H0)6l*" (4)  [Fe(CN)g)*-
foafafas o & ¥ oo P omel & 99 Swaw ¢ 7

() [CrH0) " (2)  [Fe@LO0)W" 3)  [Zu(tLO) P _(4) Fe(CN)i*+

The symbol for the super heavy clement with atomic number 105 is :

(1) Uno (2)  Unh (3) Unb (4)  Unp
TONY] WA 105 T IRy @ @ vare e lgsymbol) ¥ :
(1) Uno (2  Unh (3) (Unb @) Unp

The element used in cell walls, bones and some shells is :

() Mg 2) Ca 3y Fe (4) Cu
ity fochi, sl ok oo Ay wggw o aar I ¥

) Mg. 2y Ca {(3) Fc 4 Cu

Hydrolysis of 2 — bromo < 3.—methvlbutane gives following major product :

(1) 2 -methylbutan =2 =gl (2) 3 — mcthylbutan - 2~ ol
(3) 2 - methylbutan =1 - ol (4) 3 - methylbutan — 1 - ol
2-FMl - 3 - AP & W@ wEe ¥ e Jer SAR WS gnm
(1) 2 -Aferps - 2 - s Q) 3w - 2 - e
(3) 2 -Hferee - | - offe (@) 3 -AfmeRs - 1 - s
Chromophore showing both # — x and n—> T transition is :

(1}  Nitrile (2) Ethylenes

(3)  Acetvlencs (4) Conjugated-dienes

T 8 on—ox G ST TeRid w3 9T BEmK ¥ o

(1) s 2) i

(3) e (4) g e
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el R SN I

If 5.85 gm of NaCl"¥ dissolved in 90 gm of water, the mole fraction” of NaCl is:

(1 0.1 ) 0.0 (3) 02 @) 0.0196
afk 5.85 ¥ NaCl %90 7 wiw ¥ R fear oM @ NaCl @r =i Bt &b
(L 01 . -2 0.0l (3) 02 4) 0.0196

R ' :
What wmght of copper (At. mass = 63.5) deposits when | Faraday of ClLC[I’lClty is
passed through cuprlc salt solution :
() 6335 gm ! . 2) 3L75¢gm (3) 127 gm 4 LD gm
&) 1%%@3#3@%@%%@?%@@?&%@#3@%@
X fpa g (PR 63.5) 7
(1) 63.5 7w (2) 3175 7M 3y 127 wH 4y LOTH

R I S

1
If the carth suddenly shrinks to 4 of its original volume and mass remains unchanged,

period of one rotatlon of earth will be (period of one rotation of earth before contracnon
is 24 hours) - .

. .

(1) 0.66:hour..::2) 1.5 hour 3) " hout {4) 4 hours

t;
b,

.aﬁg&ﬁaﬁyﬁ&mma&r@mﬁﬁm waﬁawmﬁmwﬁa

W 9 Y H TE W FE f e (@R gwl F aries erad Y uw geieeT
o IR 24 T %)

Al @ 4 wa

. : SN\ i
(1) 0.66 g1 (2 154EA (3) 3

" A wire of uniform cross seétion of 1 mm? and density of material 9800 kg/m? is stretched

by 10 kg weight to produce,transverse wave. The velocity of transverse wave in wire,
(1y 100 qv’sec ~ef2) 910 misec  (3) 1000 mfsec  (4) | mfsec

L0 fem T ar et laﬁﬁwagmumwmﬁﬂmﬂm%oo
fem3 ¥, WSS onpwey 9O w1 9W ¥ -

(1) 100 WA @) 10 A 3y 1000 LA @) 1WA

An clectrical oscillator having inductance L, resistance R and capacitance C will be

oscillatory if -
'L . ,[,
R>2 = R=2|—

fergd wfwer ¥ S L, e R e enfr C % 1 frge A 3 s 2 -

- o - | _ .
R<2 1= R= R>2\/: . 1=2\F
() \[; @) 3) c“ ¢ c

S

S
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If C,, is most probable speed, C,,,, is root mean square speed and  is average speed
then‘-: for a particular temperature Cm 1O Cpppg 18 7102

(1y I : 1.128 : 1.228 (2) 1 : 1281 :1282

(3y 1 1.821 : 1.200 (4) 1: 1182 : 1.246

Tl €, SAfiea wEwE 9, C,,,,waﬁmwiﬁamam o aﬁﬂam% T TH

ﬁrﬁaaamwc C:C W OAN % -

rms S
(- 1:1.128 : 1.228 (2) 1: 1281 :1.282
(3) 1 :1.821: 1200 (4) 1: 1.182-: 1.246
Two: sources are called coherent if they produce waves ;- 3
(1) of equal wavelength (2) of equal velocity

(3) having same shape of wavefront (4) having a constant phase difference

T gg AT g HEA & O SdeT ST aOn @ —

() T qORE B ) wHaH

(3) T H W gt & 4) et Fag @

In-an" insulator, the forbidden energy gap between the valence band and conduction
band is of the order of -

(1) 067 eV (2) 114 eV (3) 143 eV 4 5 eV

% gares ¥ g ¥5 U ued ¥s % geq affa et SR B i T g -

(1) 0.67 eV ) 114 eV () A43eV o (4 5 eV

A piece of copper and another of germaiium afe cooled from room temperature to
80 K. The resistance of - .

(1) - each of them increases

(2)  each of them decreases

(3) copper increases and geifmaniuin decreases

(4) copper decreascs and‘germanium increases
waﬁmmaﬂtwm%maﬁm%mémKaﬁwﬁw
™ ¥ e oW T
(1) Ve & Sean tl o
(2) YEE P aEar &l -
(3) @R @& wewr ¥ ok wAfEm @ wew ¥

(4) @i w owedm ¥ ol AR ® gear ¥

R

Amplitude of oscillation of a forced oscillator at low frequency is 0.01 % 10 m

At frequency 100 Hz, it is 5 mm, Quality factor is - L

(1) 30 2) 500 () 5 C @) 5000

TF oty de @ T Hight | SEM 0.01 x 102m ¥ SRt @ A 100 He
W Smm B S ¥ faswar qonie w5 oAw ¥ - S

(L) 30 (2) 500 3 5 (4) 5000
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Which of the following is not a step of scientific method ?

(1) Observation (2} Classification

(3) Curiosity (4) Measurement '
Prafifae & ¥ wF-wr denfes fafs & w0 98 ¥ ¢ '
(1)  Sarm , (2) e

3) Tosmn (4) weF

Which of the following statements is not correct for the concept of Scxence ?

(1) In Science truth is always discovered. .
(2) Science brings change of special type in the behaviour and outlook ot man.

(3) Science is process as well as the product of the process. .
(4) The concepts in Science are stable and they never change.

Prefifag & ¢ BF-w Fa9 Ree B sEyen 5 fWg wE T ¥ 7

(1) T & %9 9 & @ 9 SRy O§)

2) ﬁﬁﬁwﬁm%w@?q&aﬁwﬁﬁﬁqwzﬁwﬁaﬁ?w%a
(3) Tosmm witear ft ¥ gem witemn w1 ot

@) fam ¥ saaeond @R AW ¥ &R 3 B semdaE N

According to "Thurber and Collette" a Science teacher should work likc-_.iaa -

(1) Translator {2) Instructor (3) Mediator (4) Trainer
TR WE e F SIa e s @ RO @™ &em dmeg ?

(1) oaRs (2) SRwE (3) | Homem O
The Tara Devi Seminar for objcctives in Science teaching was held in .
(1) 1955 ) 1954 (3) 1957 @) 1956°
s freor % SAedi X WRANAReT fRw ol ¥ g o 7
(1) 1935 (2) « 1934 3) 1957 4) 1956~

According to National Curriculum Framework 2005, one of the five dlrectlve pnnCIples
of curriculum formation is -

(1) Connecting knowledge to the life outside school

(2) Leaming second language

(3) Changing the outlook

(4) Bulding a strong basc for higher education
Mﬁmﬁﬁmzooa%a@ﬂmﬁﬁmﬁswﬁ%w%@?ﬁﬁ
0E T -

() o9 & @ F awd e ¥ DS

(2) T@m s @

(3) 3w B @@

(4) aaﬁrmﬁ;%qm'eﬂmwﬁwhm
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It was said in the Naticnal Policy of Education 1986, that.- -

(1) Science education should develop endurance among teachers and students.

(2} Students should work hard to get good marks.

(3)  Science education should be such that it will develop in students the ability to
solve problem and take decision. '

(4) In Science subjects more cmphasis should be given on pI’ElC(lC'I] work,

T e N-1986¢ ¥ T8 wEr mm R -

() Tagm e & st ofe el & weaafe faeftee w00 ofiq

(2) foaf¥Ei B ored ofe ur ® & U deed @en iRl

(3) Toom T 3w v & B Tifen fp a8 RanRii &) ger eam e @k
faotg w9 g w9

(4) ﬁw%ﬁaﬁﬁmﬁnﬁwmﬁwaﬁmwﬁaﬁq|

Who revised the Bloom's Taxonomy of educational ob_]ectlvcs in 2001 7

(1) Young (2}  Anderson (3) Lewis (4) Edger

= BT yigd M sgvdl & oadiimor w2000 ¥ feew deifua e 7

1y @ () dEE (3) (4) e

How many focus groups were formed in National Curriculum Framework-2005 ?
(1) 20 2y 22 (3) 21 (4) /23

T qraget & wEE-2005 F erata fee % @ Ofed R w4 7
(1) 20 2y 22 (3) 21 o 4) 23

The three components of teaching process are's
(1)  Studeats, books and examination  (2)-=Cugriculum, students and teacher

(3) School, teacher and students (4),  Teacher, school and classroom
fyteror v & @ ot ¥ -

(1) ~ Freneft, geaed e wdtem (2) wemwEl, i ot fires
(3) o, fraw ofr feremdf (4) Tiemm, @ R waT-wHd
Some steps of project work ‘areigiven here -

(a) Forming outline (b) Evaluation *

(c) Selection of projcet (d)  Exccution of the project
(c) Preparation ef the report ' B
The correct sequence of these steps is -

(1} (@), (d). () (b), (e) (2) (e}, (@), (e). (d), (b)-

(3) (o), (), (c), (b), (d) @ (), (@, d). b), ()
(a) wa—qar e (b) TearET
ORGSR S () i @ st

(¢) T FaR www

T oa @ W EA Y -

(1) (@), (d), (@), (b), (e 2) (), (@), (e}, (d), (b)
(3) (e} (@), (), (b), (@) 4) (o) (a) (d). (b), (&)
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Inquiry Model of Suchman is based on -

(1) Deductive . {2) Inductive
(3) Both Inductive and Deductive {4) None of the above .
YHAT H g wisw & -

(1) trmars (2) ST

(3) oFHEEE Tl P @) <H @E &

"To leam science is to do science. There is no other way of lcarmng science".
Who said this ?

(1Y 8. Chandrasekhar (2 U. R. Rao

(3) D. §. Kothari (4) Jayant Narlikar

‘R ) dra, ﬁaﬁaﬁm%lﬁaﬁﬁr@%waﬂéeﬂwaﬁaﬂ?&%l
T% Hu Tpgar ¥ 7

(1) TE. TR (2) g 9 T

(3) A wE B (4) O @
Which of the following is not a co-curricular activity of Science 7
(1)  Science laboratory (2)  Scicnce «fair ;
(3) Science exhibition (4)  Science ‘glub

Pt & ¥ o9& fem W @ wea-welr dfafafr W ¥ 2
(1) Toee s 2) fasm= AW

(3) F=m weskh @) T wmE

Objects of which group are inter-related 9

(1} Stop watch, pendulum, test’ tube holder

(2) Wire gauge, tripod stand,“buencr

(3)  Test tube stand, galvanometer, measuring cylinder
(4) Boiling tube, delivery” tube, hand lens

e e @ gl oAy weta € 7

() [ =, @as,out@ w@ el

(2) IR AP WIS, g

(3) W@ ThRvE, dwHe, e ke

(4) w@ET AW, Prew T, emHE d

If working in a laboratory a container having inflammable fluid catches fire while
heating, then your first job will be - o

(1)  Shoyt for help (2) Pour water over the burning fluid
(3) Run away from the place (4) Put off the gas burner

oiy oy ¥ e ] gHd gl @ ¥ ul e @ T B uny sed S
T Wl ¥ A STul GEel B BN -

(1) e & fau Rewd (2) S T 9T gl o
(3) °E wWE ¥ WM o # IR W g <
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146 'School Science' a quarterly journal is publiéhed by - o
(1) National Council of Educational Research and Trammg v
(2) National Council of Teacher Education SERHET S
(3) Central Board of Secondary Education IR
(4)  Centre for Science and Environment
G wEE %mﬁmﬁwmmmﬁmmmﬁww% ?
() i MMys sgdum v wita g
(2) Wi e fen ufveg
(3) " v Tt firer 9
@ fasm @ qaere $=

147 Tha fixed answer type question, out of the following is - = *
(1) WHat is an insulator ? e TE
(2)  Sunlight 1s essential for the growth of plants. Is thlS ‘statement true ?
(3) What is the difference between Copper and Iron. '
(4) Give an example of strong acid.

Fraffeg & @ Fiyog s wer @1 Wt ¥ -

(1) fogoosh =0 gar ¥ 7

(2) ﬂﬁa&q@%%q@mm&rmsw%lwwmmﬁ%?
(3) WUy 3 ST ® am oAl § 7

(4) WEW o7 T UH IEHWT &

148 Somc steps of question paper setting are - e e
{a) preparation of bluc print (b) evalyation © |
{c) weightage to objectives (d) making, questions
(e) preparing answer key
The correct order of these steps is -

D ©, @, @, @, b @ YO, @, ©, @), b

(3) @), (), (c), @), © @y (c), @), (&), (0), @)
9 U Wi % B oW ¥ -
() = fiT T s (b) TEET e
(c) wEed@ @ & WK () weT Prfor o

(c) oith TN JIR B
T TN B O FAOF -

(1) (2, @), (d), (@B (2) (C) @, @, (a) (bJ
(3)  (d), (b), (GL (@hlcy @) (c) (d), (e); (b) (a)-
- 149 Which type of question will not develop critical thmkmg amoug, studcnts ?

(1) Open ended question (2) Probing questlon

(3) “'Closed questions (4) Divergent  question *

ﬁww%uaﬁwfrwﬁwmaﬁﬁwﬁmﬂﬁwm ?
g (2) @oged ge

(3) d= W (4) Tafrer u$=r

150 Which one of the following is not a criteria of a good test*?+
(1) Reliability ~ (2) Validity  (3) Potentiality - (4). - Objectivity
e § | P, TRy R W eSS W8 § 7 e
(1) fyemdm (2) Roamgear (3) g @) axgheer
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